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Activity 4: It's Number War - Balancing Act!

Welcome to It's Number War - Balancing Act! The leader of the troop will give
you a number of incomplete chemical equations. Balance the chemical equations
by selecting coefficients from the candy crush of numbers. Once you thlnk the U\(
equation is balanced, release the missile!" button. Have fun and good lu \

_02 -—> _COZ + _Hzo




Activity 1

1. to make their mass balance on both sides

2. Their will be an unequal distributions of their mas; th'sides
3. Inachemical reaction, the mass cannot be created and destroyed
4.  There will be an unequal mass on both sides of the ical equation.
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Products: Ammonia

Activity 3
Elements I"ll(e tants (Number of atoms) Products (Number of atom
Na | 1 2
O |III I|I 5 5 ! II'.
H ) i 3 2 d h
S II,' 1 1 lIII
II-' 2NaOH + H2S04—— > Na2SO4 + 2H2 '.II
i | ]
Activity 4 | 1 f 1
A.2NaCl § F2 =>2 G-} i _————__".
B.Zn + J===> FH2 - "
C. C3H8 +502== A2 7 tE.-:———— _-j-_",-;
: 22 0 -
Activity 5 1
Unbalanced Chemical Equations Reactants™ Products- Balanced.Chemical Equation
Py + 0, >P401g- P=4; O=2 “P=4; 0=10 P, +50, > P,04
Fe + Hy0 ——> Fe;0, + H, Fe=1;H=2:0=1 _ Fe= 3_H-éi 0=4  3Fe+4H,0 — > Fe;04 + 4H,
C+H, > CH,4 : C= l,Hf_fl,. C +2H > (H,
Na,SO,4 + CaCly=—=> Na=2;8=10=4-——Na=1;S=1;0=4 Na, aCl,

par



